LOTTTWEE | €% LTS 80T v9 ¢ LHVIH6T H6 | $10 HOZH6 — £i¥ H6TH6 01
YWY H | 28 0¥ "9 L8 08 '€ £42 HPCHTT | £HOTHVZ HIT — £HSTHEZHTIT | 6
LellIEeE | 21 8.9 Z°T1 68 '€ £40 HO9 H6 | £12 HL H6 — HIVIHISHS 8
L90TTHE | S°8 Gz 9 0°8 26 ¢ £102HO0Z L | £HC HCZHL - &% HLIHL L
HEYdE = | L 0T LS L Z 0T AT £40 HETHZ | 4V HVIHZ - £19 HIIHZ 9

YT MYLM | 62T ev ‘9 9°0T LT ¥ £12 HT H9 | 449 HE H9 - £10 HI H9 g
HYYTc— | 8°8 Ve '8 €6 98 ‘¥ £H0Z2HE HZT | $40 HS HZT - £149 HE HZT | ¥
T pE = | S TT 99 "L Z°T1 90 'S L4 HOZHTT | £49 HIZHIT — £49T H6T HTT | €
LOTITWE | 80T ¥Z 01 VoIl 62 L £12 HZZH6 | £102HEZH6 - £18T1 HO0Z H6 z
T pE = | gel 8L °21 gel L2°8 £0THT HT | £422HE HI - £10 HT HT I

e Amvﬁmwﬁ% (w) t= 7| (S) M E| (W) AR E =) T o

Y X FEEH FEB Y

(0T~T) 51102 thd S5 A g =2
FH-HE BEIME 89 ¢ V-EH




